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® 0.5x+1.2=3.7
0.5x =3.7—-12=25
0.5x x 10 =2.5x%x10
5x = 25

&

82 x=75

® 12x+05=38
12x = 38— 0.5 = 3.3

12x = 33
_33_u
TrTh 1

&EZ X:T

® 03x+09=24
03x=24—09 =15
03x%x10=15x%x10
3x =15
x =5

S x=5

@ 1.7x+28=5.1
1.7x =5.1—2.8 =23

1.7x x 10 =2.3%x 10

17x = 23
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@ 08x—24=1.6
08x=16+24=4.0
0.8x x 10 =4.0x10
8x = 40
x=25

BX  x=5

@ 25x—3.6=49
2.5x =4.9+3.6 =85
2.5x X 10 = 8.5 x 10

25x = 85

85 17
X =— = —
25 5
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® 45x—12=83
45x =83+ 12=095
45x x 10 = 9.5 X 10

45x = 95
95 19
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3.6x—08=7.2
3.6x=7.2+0.8=8.0
3.6xX10=8.0x10
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